Terminator Salvation™ 42” Deluxe Game

Gun Parts List

Item No. | Qty. | Part No. Description
1 1 96-0974-00 Rifle Half Left F/Raw Thrills
2 1 96-0973-00 Rifle Half Right F/Raw Thrills
3 2 95-4142-10 Switch Assy Ball Detect
4 1 77-2112-300SPCL IPB SM Cir Red VIt Red Cap 6V Lamp DA3 MS No Printing
5 1 96-0985-00 Barrel Cap
6 1 96-0988-00 Trigger Raw Thrills Rifle
7 1 96-0981-00 Plastic Butt Cap
8 1 96-0983-00 Plastic Reload Cap
9 1 96-1045-00 Trigger Spring
10 1 77-2014-00 Nut F/VIt PB
11 12 43-0095-00 Screw 6-32 x 3/8 BHMS T-10 TORX
12 7 43-1247-00 Screw 6-32 x 5/8 BH TORX Black
13 1 96-1047-20 Hose and Harness Assy USB 12 Cond
14 1 FI-0254-RWTHRLS Camera Housing Assy
15 1 FI-0252-RWTHRLS Kick Board
16 1 96-1106-00 Urethane Bumper 5/16 IDx5/8 OD x % L
17 1 96-1041-00 Recoil Rod for Raw Thrills Rifle
18 2 43-2365-00 Bushing Flange JFI-0506-06
19 2 96-1049-00 Miner General Bumper Ref. # GBA-098S
20 2 43-0995-00 #10 Flat Washer
21 2 43-0740-00 Screw 10-32 x %2 BHCS
22 1 96-1044-00 Recoil Rod Spring for Raw Thrills Rifle
23 4 43-0172-00 Screw, #2 x /2 Type B. PPH
24 1 43-0067-00 Screw, 8 x 3/8 Phil Hi-Low PH
25 2 43-0436-00 Screw #4 x % PH Pan Head
26 1 96-1051-00 Reload Spring F/Raw Thrills Rifle
27 2 96-1109-00 Urethane Stop F/Raw Thrills Reload
28 1 95-4372-00 Grommet for % Dia. Hole .44 OD x .44 LG
29 13 43-0429-00 Washer, M3 Split Ring Lock Washer
30 5 43-0492-00 Screw, 4-40 x .25 PH Pan Head
31 8 43-1061-00 Screw, M3 x 6 mm
32 1 95-4466-00 Grommet Bumper F/.25 dia. Hole .50 OD x .15 LG
33 1 96-0987-00 Brass Knocker
34 1 96-0986-00 Solenoid Housing Bracket F/Raw Thrills Rifle
35 1 96-1040-00 Solenoid F/Raw Thrills Rifle
36 7 43-0375-00 Nut 6-32 Hex Nylock Black
37 1 96-0985-10 Front Cap Upper F/T4 Rifle
38 1 43-2927-00 Threaded Snap 10-32 F/T4 Rifle
39 1 43-2350-00 Nut Hex 10-32 Jam Nylock Black Oxide
40 1 90272A112 Screw 4-40 x 11/16 Torx Black Oxide
41 1 43-1322-10 Nut Nylock, 4-40 Hex Black Oxide
42 1 FI-0256-RAW THRILL LED PCB F/T4 Rifle
1 96-0019-00 Right Side Decal
1 96-0019-10 Left Side Decal
1 96-1074-00 Shoulder Strap

Terminator Salvation™ Game Software Copyright © 2010 PlayMechanix ™ Inc. All rights reserved.



Parts

Service Manual

Guns

Terminator Salvation™ Copyright © 2010 T Asset Acquisition Company, LLC



	Terminator Salvation 42in 43
	Terminator Salvation 42in 44

